S I U DY

TNPSC COMBINED STATISTICAL SUBORDINATE SERVICE IN
EXAMINATION - 11/01/2022

1. Who designed The National Flag of India?
a. Udaya Kumar Dharmalingam b. Venkata Subba Rao
c. Pingali Venkayya d. Rabindranath Tagore
e. Answer not known
ApsHwraler CxFlwsds Osmgenul LisTauheueTauBsled WITT 6UIQeImLDSHHSHI?
a. 2 HW GIT SHToedmISD b. QeumislL  &iuymell
c. Umsmed Geumienasuim d. 7UbHoETS ST
e. alemL G flualedensv

2. Ayshman Bharat Scheme Govt. of India was launched on
a. 2017 b. 2018 c. 2019 d. 2020
e. Answer not known
AhHW s Quiedorear UTrd HLHmd eGuTsh CFHTLmSwig?
a.2017 b.2018 c. 2019 d. 2020 e. alenL Gxflwalsdenso

3. Which constitutional Amendment reduced the age of right to vote from 21
years to 18 years?
a. 52nd Constitutional Amendment
b. 615t Constitutional Amendment
c. 75t Constitutional Amendment
d. 86th Constitutional Amendment
e. Answer not known
b SIFweoemolIF FLLGHIHET Ly eaurdGfleno eauwend 21  llpha 18
AUUSTE GHOBHSHH!?
a. 52 augl SdweoenoliyF FU L LD b. 61 eugl @duevemiolig gL LIb
c. 75 augl SslweueamolilF FULID d. 86 auml SHwevenolIF &FLLID
e. alemL G flwaledenev

4. Article 200 explains about
a. Parliament entitled to legislate laws in State List
b. Governor reserves a Bill for the assent of the President
c. Power of the High Court Chief Judge
d. Power of the Speaker of Lok Sabha
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e. Answer not known

allg 200 alendGeaus)

a. MBIV L IQUIeTled LIMIT@EBHLOEIBID FU LD SuIBmIgHe0

b. &uepBT  1WBFTHTM  GLWIsES —Homevaulld  QUUBIGHTE  MeUHHIH
OsIT6iT6IT6L

C. 2 Wi BIHIDAIDB HMEVMID BHHLIG DIFHSTILD

d. wésenemer FuT HTWGMET SIS HTTLD

e. alewL G Mwealsdensv

5. Amrita Bazar became an English language news paper in the year

a. 1868 b. 1872 c. 1878 d. 1881
e. Answer not known
SIbflgT urmrT usHHNbHms WI(H QYIS LSHHmBUTERISHI.

a. 1868 b. 1872 c. 1878 d. 1881 e. alewL OFflwalevenev

6. In the 1937 election, Muslim league secured percentage of the total
Muslim votes.
a.3.5 b. 3.8 c.43 d.4.8

e. Answer not known

1937-0 ouewih BCiTHedled (perelld 606 GUBM (WereSd eUTEGHe M  OLoTHSH
AUTHG FHAIHLD

a.3.5 b. 3.8 c.4.3 d. 4.8 e. alemL Oz flwealsdemev

7. Who is the Gnanaguru of Bharathiar

a. Thillagar b. Nivethitha c. Shelly d. Gandhi

e. Answer not known

UTTSWTT WTenJ &H6i @hTaIG(HoUTS GBI OlBmeuiLmiT

a. Heosit b. PGaug st C. Gageve d. smhd
e. alewL O flwealsdenso

8. In Sangam Society the term “Ambanam” was used for
a. To measure the liquid b. To measure the paddy
c. Name of the village officer d. Military camp
e. Answer not known
FhIS BTV FAPHHH60 ‘IDLHID’ 61IB GFTe0 61emdH GHBIILSTH DIENLDSIEIBSHI?
GTewTOlemTU 1 SleTenaldh GBS O\FTeL
OBeL SleeneumUl GHBILILIG
ST pHliteuTs iFHleTmulet GLwiT
. LUewL Blewevenu! @GMlS@LD OFmeL
alewL  Gaflualsensv

T an o

9. Which among the following is the functions of Directorate of Public Health
and Preventive Medicine?
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10.

11.

12.

13.

I. Prevention of Food Adulteration

II. Registration of Birth and Death

III.Immunization

IV. Promotion of Industrial Hygiene and Health

a. [l and IV only b. I and III only

c. I, I and III only d.L II IIl and IV
e. Answer not known

LeiTau(haueiauBmieT  QUTEH  &STHTY  IoBBID  SHOUY  GHHSH  SUSEGH]THHH 60
OFweOLIT(HH6T 617

L. o awiayd SHeolilL SHHUILY

II. Upiy wBpb sl uFHe] GEFUleug

I, Gmpmui sGLY

IV. Osmfleogems sruieno oBmibd d&HsrsHmy Gubur
a. III wimpid IV 101" Bib b. I wmd III o Gib
c. L IT wmpnd I o1 Bib d.L IL III wimn IV
e. alewL G fwalsenev

What will be the next term in BDF, CFI, DHL,... ?

a. C’M b. EIM c. EJO d. EMI

e. Answer not known

BDF, CFI, DHL, ....aa13 OG&mLifled oibsHs 2 miin] wrg?

a.CJM  b.E]JM c. EJO d. EMI e. alenL Oxflwalsdemev

How many different towers of 4 blocks can be built using 2 red and 2 blue
blocks kept one over the other?

a. 4 b.2 c.8 d. 6 e. Answer not known

&m daly BB @m B SLLMSET  QhHbIImel.  DbH BTG
S LRISM6NTULLD  aIB6ICos0 QaIBTE DIBEHBTe0 ciHHman allgh GHmLImISei
SIMLDEHH6VTLD?

a. 4 b.2 c.8 d. 6 e. alenL Ggfwalsdenso

When a number is decreased by 25% it becomes 120. Find the number.

a. 180 b. 170 c. 160 d. 150 e. Answer not known

@  oewienlasr AU 25% GHOBHHTeL 120 DL SHBH  6Iled, DbD
6T600T60)6001&  &HIT600I&b.

a. 180 b. 170 c. 160 d. 150 e. alenL Oxfwalsoemev

In a school of 1,400 students there are 420 girls. Find the percentage of boys
in the school?

a.30% b. 70% c. 50% d. 80% e. Answer not known

@@ UeTefuled o eitem 1400 LomewiauTderlled, 420 Guit wTewielser, Leielulled
® 6iTeNl LOTENIAUTHMET FHAIHLID BHT6wIH.

a.30% b.70% c. 50% d. 80% e. alewL O flwalsvensv
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14. Name the Nobel laureate present in the Five member Economic Advisory
Council (EAC) to Chief Minister of Tamil Nadu
a. Prof. Santha b. Prof. Esther Duflo c. Prof. Victoria
d. Prof. Shirley e. Answer not known
BSOS  (PHOMDFFHHG — WbdH 2 _pidenseT  Osmewi  QUT[HETTSHTY
siBeurgemensd GHualsd (EAC) @b Gummieten Gmmued ufla QubBeuT wimT?
a. Gugrdiwit sham b. Guymdfwit eterog™ ®. .L1G60T
c. Guymhiwir elaGLrfuim d. GugrAfiwim GagTed
e. alemL G flwalevenev

15. Rabindranath Tagore was awarded Noble Prize for literature in the year
a. 1903 b. 1907 c. 1911 d. 1913
e. Answer not known
TUHAIBTS HTan(HHEG BevdHHISHBHTer G Ufleg aupmISILL L  SL6w(H
a. 1903 b. 1907 c. 1911 d. 1913
e. alewL G fwalsdenev

16. Mohenjadaro is situated in the district of
a. Punjab b. Larkhana c. Bavalpur d. Gujarat
e. Answer not known
CraehasTCIT 6he LTAILL HH6L o 6iTengl?
a. UEhaL b. svitd e C. UTeU6LLLT d. &mrms
e. alewL Oz flwealsdenso

17. Which of the following anti-corruption bodies were established by
Santhanam Committee recommendation?
1. Central Vigilance Commission
2. Central Bureau of Investigation
3. Lokpal and Lokayuktha
4. State Information Commission
a.land 3 b.2 and 4 c.1and2 d.3and 4

e. Answer not known
eteu(pd  oarped  HOLUY  Sewwliyseiled  Fhapmed G  uflbgienguwimed
BoeulIUl Lene  Wimeneu?

1. HHw 26aped HHLIL SLEDEMTUILD

2. SHSHW ANFTTEN6MT  HLENEIOTUILD

3. Geurdumed wBMID GeoreTu|sbeHT

4. 1DTH6V SHBEUD HLEMEMIUILD

a.1 ppid 3 b.2 wBmib 4 c. 1 Bmibd 2

C. 3 BmIb 4 e. alewL G flwalsdenev
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18.

19.

20.

21.

[APPQ; Lu]

STUDY CENTRE

Which of the following is not a measure to control inflation adopted by the
government (or) RBI?

a. Monetary Policy b. Fiscal Policy

c. Financial inclusion d. Price control

e. Answer not known

&8 HILILL (BHelTemaumled 6% SDIFFTRIGLD LOBBID MU URISIULITED LINIAIHSHMDH
Grruwne S BUUGSHID BLAIGSHMS E60L6N6D

a. ueraiwled OBTeITENS b. PHuwed QETeiTens

C. 2 6lleN_&& HHuib d. elemev &I GHULTH

e. alewL G flwailsdenev

The Government of India announced a New Industrial policy on
a. July 24,1991 b. July 24, 2001

c. August 24, 1991 d. August 24, 2001

e. Answer not known

@b s yHw 0smhed OsmeTiamasmul SSlalss BT

a. g@emev 24, 1991 b. egremev 24, 2001

C. oHerol 24, 1991 d. eymerdl 24, 2001

e. alewL G fwaisdenev

“Call that a gift to needy men thou dost dispense,
All else is void of good, seeking for recompense.”
The meaning of “seeking for recompense” according to Thiruvalluvar is
a. To pity poor people
b. To follow virtuous path
c. To return the measured goods borrowed from neighbours
d. Feeling of greatness
e. Answer not known
auplwnTésrep FeuGs Fenslom Gmpeveurd
GBOWHTrmL B HIeOL Sl
@&@mLutaled “@GnBOWwaTienL” 66l HmHeueTehauT 2 JLILISI
a. gempseTLID DTHBD OHT6iTEHSH60
b. oBauf BLHH60
C. owimL. el LTl Sene] GBiSH  aumTmESW  GuUIhHemeTd  HHDUS
OsT(HHSH6L.
d. GQumend QBTeTEHHEO
e. alewL GgMwealsdensv

Who is the founder of “Koothupattarai Nadaga Iyakam”?
a. N. Muthusamy b. Indira Parthasarathy
c. Sahul Hameed d. M. Ramasamy

e. Answer not known
S LB BTLS BQUISSHMS 2 (HeUTHSWeUT WImT?
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22.

23.

24.

25.

-
STUDY CENTR
CHENNAI

| APP€ L]

a. b. (IpSHHIFTH b. @byT uTTHsaTyH d. snged amiSs)
d. ap. @gmogmd e. alemL Oxflwealsdensv

Consider the following statement:

1. In Amrut scheme old cities are included for development

2. Tourist spot are included in Amrut scheme

3. All states capital are included in Amrut scheme

4. Water supply is not included in Amrut scheme

Among these, which are correct answer :

a.land 3 b.2 and 3 c.1land2 d.3and 4

e. Answer not known
LNeITQU(HLD SnBenm  SHereo
. 9IbmE FHLSHHev LPDOLHD HHIHIS6T GFTHELILL (BHeiTeng
2. &MB@IOT LUGHHH6T DHS FHLLSHH0 Cardbsliil Beirengi
3. 61606V LOMHlIELRIHEMNET HMEVBBTD BbH HI L HH60 CFTHBLILIL (HelTen).
4. BT QUPRIBHED DIDHG HILSHFHe0 CFToHsliLL alsensv
GoBsv HewiLsummled 61z Fhwimer alenL

a. 1 wspb 3 b. 2 wBmb 3 c. 1 oBpd 2
d. 3 By 4 e. alewL Oxflwailsvensv
How many terms of the series 1+4+16+.... make the sum 13657
a. 4 b. 6 c.8 d. 16 e. Answer not known
1 +4 +16 + ... saip Q1M1 THHm 2 BILIL|BM6NS nl 1Q6ITED FnBH60
1365 SlewL&@L?
a. 4 b. 6 c.8 d. 16 e. alenL  GaMuialsvemsv

A group of letters are given A numerical code has been given to each letter.
These letters have to be unscrambled into a meaningful word. Find out the
code for the word so formed from the answers given

L I N C P E

1 2 3 4 5 6
a. 234156 b. 563421 c. 613524 d. 421356

e. Answer not known
&8 erSHIHaTe OHTGLIL @B OBTHHBILL (HeTengl. @elIGeUTH 6I(LPSHHISGLD
SHHHNCW  etewt  GPUIBG  eupmISILL (BeTeNEH.  BHOBHTGLIL  61(DSHHIHM6T
BL bOLWTHS  THBRlLMLLSSHTE0  OLT(HEbHeTen aIMTHMSHH HMLHGHW. DIHEILIY,
UPHHTHS HemibLgSHDH auTTHmSHHHTer 6lewl GHBUIBHmeTSH HTENISH.

L I N C P E

1 2 3 4 5 6
a. 234156 b. 563421 c. 613524 d. 421356

e. alowL  OFMwalsdensy

An Alloy contains 26% of copper. What quantity of alloy is required to get
260 g of copper?
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26.

27.

28.

a.740 g b. 2060 g c.1000 g d. 10,000 g

e. Answer not known

R 2 Bourad SHevewal 26% HTOTHMBS OETawiBeTengl. 260 &. HTOTHMDBLI
Cump Cxhemeuwner 2 BeuTdd HevenaluileT Sl6Te)]

a. 740 & b. 2060 &) c. 1000 & d. 10,000 &)

e. alowL  OFMwalsdensy

Match the Rajiv Gandhi Khel Rathna Awardees with their respective games:

A. Shri Rohit Sharma 1. Para Athletics
B. Shri T. Mariappan 2. Table Tennis
C. Ms. Vinesh 3. Cricket
D. Ms. Manika Badra 4. Wrestling
A B C D

a. 3 1 2 4

b. 1 4 2 3

c. 3 1 i 2

d 4 3 2 1

e. Answer not known
gredell &Mhd BHev FoHem alhal OCUBBeUTHM6T SialTHeNeT alenemuim (HL 6ot
QUTHSHHIB -
A. Fm. Crmandlg &from l. UMIT SIH6EVIQEED (HLS6ILD)
B. &@. T. wrfuiiesr 2. BLLed GILedtenTlerd
C. Hmng) (Ms) alCearad 3. dflbO®I
D. &g (Ms) wreidst ursIm 4. 1060UHS D
A B C D

a. 3 1 2 4
b. 1 4 2 3
C. 3 1 4 2
d 4 3 2 1
e. allewL  OFflwealedensv

Under Maratha administration, the Panchayats were popularly called
Panch-Parmeshwar and the Panchas were often called as
a. Ma-Bap b. Kulkarni c. Potdar d. Kotwal

e. Answer not known

wgTHHwisemer o fulled vehaTwHend Lehd LFGevaT eTemIDd  LiEhaTer
61GILIGUTEHGM6T SUILIQUILD SDIeDLDSHSHTTEHGIT

a. Lom-LImL b. @evsitel C. UMLLIT

d. Gargeured e. allewL Oz fuiailsdenev

Who erected non-ruted Iron Pillar in the Qutb Minar complex at Mehrauli?
a. Samudra Gupta b. Kumara Gupta I c. Chandra Gupta II
d. Vishnu Gupta e. Answer not known
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29.

30.

31.

32.

[APPQ; Lu]

STUDY CENTRE

CamyTeduled G HIOITT eUMTHHHD 2 6ffen  HIHUINYSBTSH B(HLOLISHST 600!
SIMIDSHHUT WITT?

a. FWHHT GLSHT b. (pgeomd GOTT GLISIT

C. @UeWILMD FhAT GBI d. eleagem GLIST

e. allewl  OFflwialedensv

Who is the Chairman of G.S.T. Council?

a. Home Minister b. Prime Minister c. President
d. Finance Minister e. Answer not known

OhgHwunalear grh@ BB Csemeu eufl Femuuler gHemeveuT wWITT?
a. 2 _6NHemB DIEVLOFFT b. WysLor

C. MamgHug) d. P8 simFs

e. allewL  OFflwealedensv

Land Development Banks provide credit to farmers for

a. Short term needs b. Medium term needs c. Long term needs
d. Flood relief e. Answer not known

Blev elel aumid aleusFTuilsEndE BB GULOMIG BB

a. @pIFHW sTev BHeneu b. BBHHT &Tev BHema

C. HeWIL &Tev BHemal d. Qeueiterm Mleumyeniid

e. allewL  OFfwealedensv

“A crow will conquer owl in broad daylight;

The king that foes would crush, needs fitting time to fight’

What is the main idea of this Thirukural?

a. Importance of time b. Victory of crow c. Owl’s failure
d. Victory of kings e. Answer not known

“UB6L CEUILID FmenBMUISH HTHNH @H6L  6Ol6)6LEVID

GoubsiTe@ GeuewiBd QLTSI —

BDEGDBET 2 _MITHSHID HHHEH WTH?

a. BTSHIHE (LPSHBWISHBHIAID b. srdemasuie Geumn
c. gmemauier Bzmmeval d. Geupbsiseflen Oeumni
e. alonL.  OFMwalsdensy

Rani bought 100 bananas at the rate of Rs. 320 and sold at the rate of Rs. 60
per dozen. Find the profit or loss percentage.
a.562% b. 8712 % c. 87 V4 % d. 56 ¥4 %

e. Answer not known

grefl 100 euTenPLILIPBIB6T X 320 &H& GUTRIS@ITET, DIHMT @ LeT I 60
&@& alBmTeT 66lled, DIH SeuTUD (&)) BLLLD FHAIHLD HT6HISH.

a. 565% b. 87 5 % .87 Va % d.56 V4 %
e. allewL  OFflwealedensv
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33.

34.

35.

36.

37.

If additive inverse of a + b is a + b. Then what is the additive inverse of a?
a.a b. -b c.b d.a-b

e. Answer not known

atbear alLed erdmoemp a+ b erefled o 61 Gl 60 GIHTOMB  6T65T60T?

a.a b. -b c.b d.a-b e. alenL  Gafuwiealsvensv

Why the Neyveli Lignite Corporations was located at Neyveli?

a. Plenty of water b. Suitable climate

c. Availability of lignite d. Nearness to market

e. Answer not known

ErRWIGMeY Ly Mevdsllds HwsHma g6 GHUIGMeIUTsD BlmiedeniT?

a. SIIIeMoTs BT HewLSHGWw L Lb b. QUTRSHIOTET HT6L BNV
C. ULy Hevdsl HlewL SGLL LD d. shmsdsd DHBTOLD

e. alewL  OFflwalsvensy

Ramu and Somu bought two tables for Rs. 750 and Rs. 900 respectively.
What is the ratio of the prices of tables bought by Somu and Ramu?

a.6:5 b.5:6 2 : 3 d.3:2

e. Answer not known

grp wmpd Camup eummiFwl B GCuwengseflar alewev (pewmBui I 750 wmmd
900 el Gamup wBmID gT eummGwl Cuengsefller alemevenul al&lH5HH 60
FnBIcb.

a.6:5 b.5:6
e. allewL  OFfuwialedsnsv

c.2:3 d.3:2

Find the smallest number which is exactly divisible by all the numbers from
1to9.
a. 2510 b. 2520

e. Answer not known
1 mbad 9 suemguleomedl SiMeishdl 6IewIHEMTaID IGUGBLD HSFABIW  eTewTenemdh
SBITE0IE.

a. 2510 b. 2520
e. allew  OFfluwealedensv

c. 2530 d. 2540

c. 2530 d. 2540

“In a domestic Government, unity and co-operation are essential requisites”
- is a comment passed by

a. Jawaharlal Nehru b. Mahatma Gandhi
d. Indira Gandhi e. Answer not known
“@T o aMBTL(H JFTRIGHSH6E0 Q@BBIDIOUD, @SHHIMWLILD  DISHHUITeUSIUILDT60T
BeSlweWTHmeUS6T — oiaiml allTdHEH FnmluleuT

a. MeIamTeuTed Gh(H b. wa&rHIT HMHS

C. gTHMT eusdeoLITUI LI GL 6D d. @pgym &b

c. Sardar Vallabhai Patel
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38.

39.

40.

41.

e. allewl  OFflwialedensv

“The Big Thoughts of little LUV” - Book was written by

a. Gauri Khan b. Arundhati Roy c. Karan Johar

d. Vikas Khanna e. Answer not known

“@ s STl ot aJIlIged 6v6ll” 6B LSHHBHeNDH 6I(LDSUIGUT

a. Omenfl amest b. @mbss grul C. &yew Gmram
d. ellamed sewiewm €. alewL OFflwalsdensv

Victoria Memorial Hall at Calcutta was constructed during the regime of
a. Lord Ripon b. Lord Elgin c. Lord Curzon

d. Lord Hardinge e. Answer not known

H0BHHTale0 o 6iten  albCLmflwm  GGwrflwed ammed wrT S g STeuSHgHle0
s LU Lg?

a. Mouer gy b. erevegesr Ly c. &iFar Lyy

d. emmmgeh Llyy e. el Oz Muwalsveneo

Which one of the following is false with regard to the reign of Ahmad Shah?
A. He transferred his capital from Gulbarga to Bidar
B. The rivalry between the Dakhin Party and foreign party became
accentuated during his period
C. He conquered warrangal on 1424-25
D. He annexed the kingdom of Gujarat to his empire
a. (A) b. (B) and (C) c. (D) d. (A) and (B)
e. Answer not known
OIB0FH agTaller oL Fuled HC @MU BeitemeuBmled 615 Hoummergi?
A. 3m60BHM] GHeoLTHBTaNe([HESHI LI T([HbE OTBeTTiT.
B. suT smugged Ledar sl s Oeuelpmi(h sl o Gorsded  Lmps
GualiL (b eubDHIl.
C. 14242510 Syemnged GUTIMHIGED 61IB @)L D SLILBBLILLL S
D. 62115 s et CUITHLET BenenidHHid OCememtL T
a. (A) b. (B) wsmib (C) c. (D) d. (A) wppid (B)
e. allewL  OgMuwalsdenev

Which employment schemes is called as ‘Milestone” and hails it as the “best
known” employment guarantee scheme by UNDP and its Human
Development Report 2015.

a. The Integrated Rural Development Programme.

b. Mahatma Gandhi National Rural Employment Guarantee Scheme

c. Prime Minister Rozgar Yojana

d. The scheme of Training Rural youth for self-employment

e. Answer not known
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42.

43.

44.

| APP€ L]

CENTRE
CHENNAI

abd Geuemev eumuIl] HLID DSHHMBU FHLLES6MNET D60 H60  616T6LD
a5FFmHeH Geouemev eumuill] 2 Mg S LD elemeyd &I HTHH6T FenLiuiles
weld Gubum’ G 2015840 UL SHHUW Pibensuled GMILLTIL UL BHeiTerng)?
RUHRIBMMIHS 26MTH aeNTEFHG HI LD

W&THOT SMhHFH CHFAw ears Geuemeveuruiliy 2 migh S LD

ys wh M Geueneveuruiliy Sl L b

SymoUp  QenenehTeendsTer Fiul Geusmeveuruit uuild b

alenL G Muialevenso

oo o

Which one of the following leader not related to Dindugal League?
I. Gopal Nayakkar
II. Manaparai Lakshmi Nayakkar
III.Deni Yadul Nayakkar
IV. Singam Chetty
a. Il only b. II only c. Il and III only d. IV only
e. Answer not known

SLPHETL6UTH6MED &6l (BHeHe0 Fnl L enIOLIGNLI FTFTSHGUT WITT?

L. GaTUIMed  BTUISSBIT

II.  wewiumenB 6oL &L HTWISST

III. el eged BHTULISST

IV. dmsb 05119

a. Il w@w b. III o1 GBb c. IT wmmb HI w1 Gid

d. IV o (i e. el Oz fuialsvencv

The Tamil Nadu Industrial Guidance and Export Promotion Bureau was set
up by the Government of Tamil Nadu for

a. Financial assistance to industry b. For making industrial policy
c. For attracting investment proposals d. Assisting internal trade
e. Answer not known

____ OpTG OxTHed el (Hed wBLILD gmmind  Guburl(  uemiwsLD,
SODBTH DITFT60 DIENLDEBLILIL LS.

CaTHe0sEndHE HFH 2 Hal OFuiw

OaTHe0 OFBTeTmBMUI 2 (HEUTHS

(WPWHESL (B S L MISHEN6T SH6U]T

. 2 6MBTL(H aTHSHBHIH0 2 Hal Glguiw

alewL G flwalsensv

LI RE < o &

If the price of orid dhall after 20% increase is Rs. 96 per kg, find the original
price of orid dhall per kg.

a. Rs. 100 b. Rs. 80 c. Rs. 60 d. Rs. 50

e. Answer not known
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45.

46.

47.

48.

49.

| APP€ L]

20% elemev o wWiTalB@Gl a1 @b HBom 2 @hdsd umGLls almew I 96
oTelled DIHET DIFL AN6N6V 6T65T60 7

a. Rs. 100 b. Rs. 80 c. Rs. 60 d. Rs. 50

e. alowL  OFMwalsdensy

Find the C.I. on Rs. 15,625 at 8% p.a. for 3 years compounded annually

a. Rs. 4,000 b. Rs. 4,028 c. Rs. 4,058 d. Rs. 4,050

e. Answer not known

X 15,625 &5 b ey 8% aisb eaaled 3 YaibEEhEGS gl B 6l lg
SHTETRLD

a. Rs. 4,000 b. Rs. 4,028 c. Rs. 4,058 d. Rs. 4,050

e. allewL  OFflwalsvensv

LCM of 35a2¢3b, 42a3cb? and 30ac?b3 is

a. 210a3c3b3 b. 7abc c. 216a2c3b d. 441a3c3b?

e. Answer not known

35a2c3b, 42a3cb? wwmpid 30ac?b® Seumplent 18FHm OuTgkl wLBEG  (15.6LUT.LD)
BT,

a. 210a3c3b3 b. 7abc c. 216a2c3b d. 441a3c3b?

e. alewL  OFflwalsvensy

H.C.Fof (x +y)? (y + 2)3, (z + x)*is

a. 1 b.x+y+z C. (x +y+2)? d. (x + y)2(y + 2)3(z + x)*
e. Answer not known

(x+y)2 (y +2)3 (z+ x)* a1 15.6LM.6u

a. 1l b.x+y+z C. (x +y+2z2)? d. (x + y)2(y + 2)3(z + x)*
e. allewL  OFflwealedensv

The scientific name of asian elephant
a. Elephas axis b. Elephas radiata c. Elephas domesticus

d. Elephas maximus e. Answer not known
S Fw wrenetulenr Sleluled GLwT

a. 6160.".L1er0  gyFlerd b. e6d.".uerd Grig@uu L
C. 6169.".Lerd GILTLDErOIY&6rD d. eed.".uer® Guodenioerd
e. alonL  OFMwalsdensy

Who is the father of surgery in India?

a. Charka b. Sushruta c. Nagarjuna d. Vagbhatta
e. Answer not known

SIpme FBFHFUIT HHenDH 6160 DIEMWSHSLILBL SHFHW HHHIGUT WITT?
a. FiebsT b. sevm&SST C. [BT&TTEZ>60IT

d. eusLdHT e. el Oxfuwialsvenev
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50.

51.

52.

53.

54.

CENTRE
CHENNAI

| APP LD

)

The coronation ceremony of Shivaji was held in 1674 in the fort of
a. Raigarh b. Kondana c. Shivneri d. Redfort
e. Answer not known

Fouredulest (@&l B alpm 1674-b SiewiB Hewl GuBm CsmenL

a. gruiesT b. Q&mewimeon c. FouGm

d. QaRGsT_enL e. allewL Oz fwailsdenev

Jyeshtha Ashtami is celebrated in which state?

a. Himachal Pradesh b. Bihar

c. Kashmir d. Rajasthan

e. Answer not known

abd MHVSHHeL CRUIST e Ll OsTeiLmL LGS BEI?

a. aflonggeo LIgGshaid b. Sammi C. HTOJLST
d. gregerdgmest e. alenL  Gafuelsvemsv

The Drain Theory about poverty in India is associated with
a. Mahatma Gandhi b. Patel
c. Nehru d. Naoroji

e. Answer not known
@phHw uBImUleD, 6UgHTed CaHTUTG WML CHTLITL CleTemil

a. LSTHT HH b. u’ BLed c. BGmm
d. OmenGyreg e. alewL Oz fwalsbensv
SJSRY stands for

a. Shahari Jeewan Sudhar Rashtriya Yojana
b. Swarna Jayanti Shahri Rozgar Yojana

c. Sampoorna Jeewan Shahari Rozgar Yojana
d. Swarna Jeewan Shahri Rozgar Yojana

e. Answer not known

SJSRY -e1 elfleurdaid

a. Shahari Jeewan Sudhar Rashtriya Yojana
b. Swarna Jayanti Shahri Rozgar Yojana

c. Sampoorna Jeewan Shahari Rozgar Yojana
d. Swarna Jeewan Shahri Rozgar Yojana

e. alewL Gz Mwealsdensv

The main aim of self respect movement in TamilNadu was to

a. Abolish untouchability b. Encourage self respect marriages

c. Abolish Devadasi system d. All the above

e. Answer not known

SODBTL 1960 FWioflwmensd BuissHH 6 (PoHHW CHToHaed

a. SHWILTeMLD L& GH60 b. swioflwmeng Hpemshma 26mdbEalddH6e0
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55.

56.

57.

58.

C. Bmpaumtdl (1peB @ HH60 d. Gumanpul SiemeTSHHID

e. alowL  OFfwalsdensv

Who implemented Poondi Drinking Water Reservoir?
a. Kamaraj b. Sathyamoorthy c. Rajagopalachari
d. Annadurai e. Answer not known

yewng  eiaieifl P60 @  GYBTECHEEIMS  SLBaPBHTA S SHMD
CFwedLIhSHSHWeuT wimr?
a. &MoYTegT b. g58w ciTHd

d. ojeuitemITgIen]T e. el Oxfuwalsveneo

c. @yraGsrumeorgamt

Arikkamedu is located in
a. Tirunelveli b. Dindugal

d. Goa e. Answer not known
9Iflsa6WwH SimWbHHeTen G 1D

a. HmOmevGalel b. FHewiebsed

d. Gasmeur e. ol O fluweilsbenso

c. Pondicherry

C. umeurg&Gaif

The third sangam at Madurai was founded by

a. [lamperuvazhuthi b. Mudathirumaran
c. Muthukkudumi Peruvazhuthi d. Nedunchezhiyan
e. Answer not known

(PIBTUSH FRISHMS LOHIMIUTED BimieTwleuT

a. @embeLImHeILpS b. L &8 mLommest

C. (PHIBSBL GBS d. CBGEhOFwes

e. alewL G fwaisdenev

Match the following
City Popular in
A. Tirupur 1. Cloth market
B. Karur 2. Gate way of Tamil Nadu
C. Erode 3. International Leather Fair
D. Chennai 4. Knitting city
E. Thoothukudi 5. Home Textiles
A B C D E

a. 4 5 1 3 2

b. 3 4 2 1 5

C. 2 3 4 1 5

d. 1 2 3 5 4

e. Answer not known
QUITHSHHIH
[HBJRISH6NT s GumBmBeney
A. Fply 1. slenFsHmS
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59.

60.

61.

62.

B. & 2. HOPBHH T BHIWPa] 6uTuiled
C. mGym(p 3. geuBshF Gxpmed SHewism &
D. Qgeitener 4. eiTeoteumenl [HBIJLD
E. gnssissly 5. ol 2Mayeldern
A B C D E

a 4 5 1 3 2

b. 3 4 2 1 5

C. 2 3 4 1 5

d. 1 2 3 5 4

e. alemL G flwalevensv

The time taken for Rs. 4,400 to become Rs. 4,851 at 10% compounded half-
yearly is

a. 6 months b. 12 months c. 18 months d. 24 months
e. Answer not known

10% WG el lguled SIETWTRIGHE @@ (WemB QUL Igdh HEuTdhSILILLLTe
4,400 seiml X 4,851 OB SLGID.

a. 6 LTHHIG6I b. 12 onsmisein C. 18 LOTSHBISHET

d. 24 wrgmisei e. alewL Oxflwalsbensv

Sathish Kumar borrowed Rs. 52,000 from a money lender at a particular rate
of simple interest. After 4 years he paid Rs. 79,040 to settle his debt. At what
rate of interest he borrowed the money?

a. 13% b.11% c.12% d. 10%

e. Answer not known

FHaG GIT el @ GBUILL ey aiddhdHed h. 52,000 Haf eully
(woBulled &L euTmid, 4 SuewihEel SWPWHH H. 79,040 HHOL  HLenerF
CFaISHFH ML SlauT auThISU HLaISGTw e’y aiFHlD el6elaleTey?

a.13% b. 11% c.12% d. 10%

e. alewL O flwalsdenso

Learned concept reproduced without any change is called

a. Whole memory b. Perfect memory c. Rote memory

d. Long term memory e. Answer not known

&SBM BH(HHNSH LOTHBBLOGLEVTION SILILIYGU H(HLLNS FmBleud)

a. (LP(LDEMLOWITE  [BlemeaTeUTBmeL b. gflwner Beneareuriped

C. WeTILIML.  [HleneTeuTi3360 d. GBEHESTEL BeereuTBBeD
e. alewL G flwailsdenev

The wings of the aeroplane was designed based on
a. Torricelli’s theorem b. Euler’s theorem
c. Bernoulli’s theorem d. Alembert’s theorem

15[ Page




63.

64.

65.

e. Answer not known

aurert oaTHular @méHemnd _ SlglimLuled DIenSSLILIL (HeT6n).
a. LmmMegeved GHmmid b. euieoT BGmBBLD

c. QuTGemel BzhBBLD d. syeobum’ GxhBBID

e. alewL G fwalsdenev

How is the hot wind of Western India called?

a. Norwesters b. Loo c. Mountain breeze
e. Answer not known

@hgHwumalar CoBE uGHuled aisb Geuliud STBHmI eeleUTBnI HHEPSHSLILIGSBSHI?
a. BrTeleuervol BL ferd b. eum

C. LDMEV  HTB] d. ueiTeNSHFHTEG STHBHI

e. alewL G fwalsdenev

d. Valley breeze

Match List I with List II and write the correct answer :
List1 List II

A. Buddhamitra 1. Thirumandiram

B. Amitasagaranar 2. Kalingattuparani

C. Jayankondar 3. Virasoliyam

D. Thirumular 4. Yapparumgalam

A B C D

a. 1 3 2 4

b. 2 3 4 1

C. 1 2 4 3

d. 3 4 2 1

e. Answer not known
ulguied - I -3 wuliguied II 2 1La1 Quimsd asflumer uHeweo 61HSHSB
SIS ALD:

U guiey I U iguied 1T
A. yssgdni L. Sowbgrn
B. sudirsarsyeit 2. &6URISSHSIILIT 60T
C. OguwmiO®TeuTL T 3. aif@amPuid

D. meipsoit 4. WITLIL(HRIGEOLD
A B C D
a. 1 3 2 4
b. 2 3 4 1
C. 1 2 4 3
d. 3 4 2 1
e. alemL G flwaledenev

The Ghadar Party was formed by Lala Har Dayal in the year 1913 in
a. America b. Russia c. Japan d. Germany
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66.

67.

68.

| APP€ L]

e. Answer not known

ST S Femwl 60TeLT BT HWMeL 1913-60 6% BTLIg60 OHTLMHIF eUSHSHTT?
a. ©I6MsbasT b. gajuwmr C. eUILIMGsT d. Gggimoen

e. alemL G flwalevensv

Gurukula Ashram was run with the funds contributed by the congress party
for promoting national unity at
a. Serama Devi b. Kanchipuram c. Erode

d. Chengalpattu e. Answer not known

Cxd @BBIMWSITS STREHTOD SLF elhsd BHiEH o galular Cuiled GmEHev
S FTID GFweoUl’ L @)L 1D

a. Gaywor Gxai b. smebdyyid c. rGym®

d. QgmiseoL B e. alewL Oz fluwelsvenso

The Jammu and Kashmir reorganization Act, 2019 is enacted for the purpose
of

i. Creation of Union Territory of Ladakh;

ii. Creation of Union Territory of Jammu and Kashmir;

iii. Bifurcation of the State of Jammu and Kashmir;

iv. Delimitation of Parliamentary Constituencies in Jammu and Kashmir;
a.ionly b. iii only c. i and ii only d. iv only
e. Answer not known
QUD(LP-BTAJOT LOMIGUEN] LLIGDBF FLLID 2019 6ih & CrTeHsHHBHTH
BlenpCouBmLiLLL i
(1) oLTeH UGHow upeflwe LIfCaaonshs

(ii) oID(Ip-BTadbeny upelwer LIyCsHainss

(iii) QD(P-BTOGST LoMBlevdHemd @ewiL sl Liflds

(iv) oIp(p-sTabfleveTen  UTITEHIDEIBS OHTGHBmen 0Bl  FIeMIOUILF
Oauiwl

a.i @B b. iii o @B C.1 @b ii L (b

d.iv w’ (G e. alewL QFHflwalevenev

Periyar Viyathulam Ilame;

Siriyorai igalthal athaninum Ilame;

What is the first line of this purananutru padal?
a. Yandu Palavaka Naraiyila Aaguthal

b. Thenkadal V alagam Podumai Indri

c. Yadum Ure; Yaavarum Kelir

d. ie yena irathal ilinthandru; Athan yethir

e. Answer not known

“EuiiCGwmeny alwdHeed &6ev6io;

FBCwmeny DHHL DIGHdIID &evB”. — 6Tenr
WIPWD UBBTEMBHIL LTLedlel (pHed g 61Hl?
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69.

70.

a. Wreni(® UevaUTs HeTUlled G &H6e0
b. OxemisL 60 alenTsid GLITHIID B6s
C. wrgib =a@r; wreurmb Gsmeri:
d. weren QrHHe0 QUbHEW; DiBed G
e. alewL Gaflualsvensv
Match the following
City Industry
A. Tiruchirappalli 1. Chemical Production
B. Karur 2. SAIL
C. Salem 3. BHEL
D. Coimbatore 4. TNPL
E. Thoothukudi 5. Wet Grinder
A B C D E
a. 3 4 1 5 2
b. 3 5 4 2 1
C. 2 3 4 5 1
d. 3 4 2 5 1
e. Answer not known
OUIT(HSHSIP:
BSBJLD Camoled
A. Hmsfgriueied 1. Brsmwer o MBLs )
B &emit 2. SAIL
C. Gzoeud 3. BHEL
D. Gasmuibugbgmit 4. TNPL
E. a1$a15619 5. 1016 QMISGID Suibyid
A B C D E
a 3 4 1 5 2
b. 3 5 4 2 1
C. 2 3 4 5 1
d 3 4 2 5 1
e. alewL G flwalsdenev

The radius of spherical balloon increases from 12 cm to 16 cm as air being
pumped it. Find the ratio of the surface area of the balloons in the two cases.

a.9:16 b.9:14 c.9:13 d.9:15

e. Answer not known

R Gsmem ealgel LTI SMTHBBI o hHHULUGD GuTshl DIGHeT b 12 GFw.6 -
Dmba 16 5.5 o5 2 wmIBEH. S ypluglysellear el ST s.
a.9:16 b.9:14 c.9:13 d.9:15

e. alewL G flwailsenev
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71.

72.

73.

74.

75.

[APPQ; Lu]

STUDY CENTRE

Find the compound interest for the principal Rs. 4,000 at rate of interest 5%
p.a. for 2 years, interest compounded annually.

a. Rs. 400 b. Rs. 441 c. Rs. 440 d. Rs. 410

e. Answer not known

oiFe0 T 4,000 &G eih aulp aidd r = 5% 60 YaBhEEG @@ (WedB 6l lg
SHETHBILLILLLT60 2 OLewI(BH6Ie0 Henlb@GD Fnl B QU I9enUISH HT6N0IH

a. Rs. 400 b. Rs. 441 c. Rs. 440 d. Rs. 410

e. alemL G flwalevensv

The work done by the conservative force for a closed path is

a. always negative b. zero c. always positive d. not defined
e. Answer not known

eplpuwl &mpsled oiflaleveuT alengwimed GaFuiwiiul L Gealenen DG LD.

a. enIQUTIPSID eTFHTDemD b. &l

C. eiiBumgib GBToemm d. euenywimIssLILL alevemev

e. alewL G fwalsdenev

Which one of the following is similar to earth with respect to size, mass and
average density?

a. Mercury b. Venus c. Mars d. Saturn

e. Answer not known

SpHHILuBmIeT  Laldh@ gFwTeal Sene], FITFf DI THH OBBID Henmenwl
Oamewi(heiterm Gabmeil G LD.

a. User dysld b. Qeueite &lysid c. GFeueuTul &Hysid

d. sefl Sysid e. ol O fluwelsbenso

Which one of the minerals is widely used in dying and printing?
a. Nickel b. Zinc c. Lead nitrate d. Manganese

e. Answer not known

LeleumeueiouBmlel 6lbHd SHelod FTWELBBISHD WBDID DFFBH6060 LIFeueOTHLI
LWIGTLI(hSIBS

a. MHébdeL b. H1HHBTHID C. FwIb enpL Gyl

d. wriseis e. alemL OFflwalsvenev

stream disappear near Hanumangarh in Bikaner.
a. Vipasa b. Chambal c. Hakra d. Kosi
e. Answer not known
B Lsrelifled ameIosisnTd 6aip L HAMBE DIHB60 LDmBHMBS.
a. elurgm b. gmbued C. am&IT d. Gardl
e. alewL G flwailsenev
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76.

77.

78.

79.

[APPQ; Lu]

STUDY CENTRE

CHENNAI

Which of the following is/are true regarding Directive principles of State

Policy?

i. Directive principles of state policy are enumerated in Part IV of the
Indian Constitution.

ii. Court can uphold the validity of a law on the ground that it was enacted
to give effect to a Directive principle of state policy.

a.ionly b. ii only c. Both i and ii d. All the above
e. Answer not known
&P 60T GUMBMI6NT YIS (M) ARE0NSES Gam_LmBaseit LImns|

QFTeLELLILIL L e»audb@ehelT Fluimen gnmml 61!/ eleweu?

1. aufsm B  oppupenss  GCaTuTBaseT @hH DFFMOLLF  FLL SHIH 6T
prersTd LGHuied (Part IV) @piniiiud Gerengt.

1i. aufsm B  OpPdpenps Cariurhseiar Wah SuBBUUGL  FLLHISmeN
BHIOGIBLD HOTH DIHBTTSHHGT CLP6VLD HTELUMTUIBIHS  (LPIQULD.

a.1 L B b.ii G C.1 LoBmID 11 FewIBHLD

d. GuBamplul SiemeTSHHID e. alewL Oz fluwelsbenso

According to Article 359

a. President has the power to suspend Fundamental Rights.

b. Governor has the power to remove Chief Minister.

c. Speaker of Lok Sabha has the power to dissolve Lok Sabha.

d. Prime Minister has the power to remove Vice-President.

e. Answer not known

allgl 359-a51 LIg

a. GLWISFS HmevalT SlgliedL. o flewwsemenr FoHH OFUIWD  OIFHSTILD
CuBmeuT

SLEBHHT (LPHEVMDFFDT HHGHLD DIHBTID GLIBBeUT

LDSHSH6NTeNE! FUMBTUIST LDSHHEMMEUMIL HNeVSEGHD DISHSTID GUBMmeUT
. Urswohdfl Sieneml GLUITSHSH HeN6VaUM] HHGD DISHSTID QUBB6T
alemL G flualedenev

© o0 o

In which two years Subash Chandra Bose was elected as the president of the
Indian National congress.

a. 1938 and 1939 b. 1940 and 1941 c. 1942 and 1943

d. 1944 and 1945 e. Answer not known

gumey ghaHy Gumerd GEmupeds @hHw B  STRHTHDHEG HMEVUITH
CaMbOHBHHSUILILL.  S601(HSH6IT

a. 1938 opmd 1939 b. 1940 wBEID 1941 . 1942 wBpID 1943
d. 1944 o@pud 1945 e. alemL Oxflwalsdenev

Which of the following statements about the early years of the Indian
National Congress is NOT TRUE?
a. Indian National Congress was founded in 1885.
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80.

81.

82.

b. Promotion of national unity was its major objective.
c. It did discussed about social reforms.
d. It strived to create a common political platform.

e. Answer not known

b Cxhdw smmdFenier U STeuHmSL LUBBIW LlEeUBD FnBBIseTed 61
gilwmengl Sjevev?

188560 @hgHlwl G sTRISTed SHloURSILIL L S

G QHEMLLILITL ML UeMTULGI DiHeT (WoHHW CleTeTemaTEGLD

G FWYHTW FTHBHHuseT GBS alauTddss!

. DB P(H RHRIBMHSH DFFUIGD H6MD 2 (HeUTHSLILTHLL L

alewL  Gafluailsvensv

a0 o

Who is the kodaiyezhu vallal referred to in this Siru Paanaatrupadai verse?
“Muttathu kodutha munaivilangu thadakkai

Thuli mazahai pozhiyum vali thunju nedunkottu

Nalimalai Naadan
(Provider of necessary items it rains regularly high mountain country
leader....... )

a. Paari b. Kaari
e. Answer not known
“WPLLrgl 0aThHd (Penaialebi@ S Hmebs

glefoemp Gumlub euefligiehd CHBRICHTL B

BeIlLoem6Y [T 60T ..

- @FFpiumeBEItiue»L. UL 60 eufldeafled @)L IDGUMID HeMLOUILD 6l6iTeTed  WIMT?
a. umf b. & C. peiterf] d. sl

e. alewL O flwalsdenso

c. Nalli d. Aai

In which city of TamilNadu is the World’s biggest baggase based mill
situated?

a. Tirupur b. Karur c. Sivagasi d. Coimbatore
e. Answer not known
SO  HILIGL  6hEH BEIHH o eudler sl Quilw  SHLUFFHMS

Sl uled STHSHSH HWTTLL Hpeueaid o e6fteng?
a. iyt b. &t c. deustd
e. alemL G flwaledenev

d. GasmuwibLb g

Which of the following pair is correctly matched?
a. Chennai - Auto component industries
b. Erode - Fire works

c. Sivakasi - Poultry farms

d. Madurai - Leather

e. Answer not known
SLpSHHEMIL UBMIT 61hd Bewewnt FHWMHL QUTHHSHUILIL (HeiTeng?
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83.

84.

85.

86.

a. OFeenen arser o FHifl UTHBIGHET

b. #Gyn( LI L&

c. Flousnd GamPIL1  LI6wTen 6v0T & 61T

d. gy - Gaimev

e. alewL Gy flwailsdenev

Fill in the blanks :

If 5 persons can do 5 jobs in 5 days then 50 persons can do 50 jobs in
days.

a.5 b. 6 c. 50 d. 10

e. Answer not known

BITILs

5 puUTsel 5 Gouemevdemen 5 HeiTdeilled OFUISH (IPQUILIT eleled, 50 HUITH6T 50
Gouemevmemem BT &HeMled GOFUISH (LPIQLILIT.

a.5 b. 6 c. 50 d. 10

e. alemL G flualedensv

The base of the parallelogram is thrice its height, if the area is 192 sq.cm,
find the base.

a. 8 cm b. 24 cm
e. Answer not known

c.20 cm d. 34 cm

QT  OmBISHHA  DIPLILISHLOTHIH  DHeT 2 wgHhwsll  Gumew  cpais
WLRISTHAD DG UFLuene] 192 0515 sald SopUUsr SIQlLsEsHmS
SBITE0I .

a.8 Qa.18. b. 24 Qsz.5. c. 20 Q.6 d. 34 Gz.8

e. alewL G fuwailsdenev

In Tamil Nadu, the heavy water projects is located at
a. Narimanam b. Kalpakkam c. Kayathar

e. Answer not known

SIOD BTIgEL & BT SHULID SewHSHIGTeT G LD

a. milewrid b. seouTdsID C. BWHBTH
e. alemL G flwaledenev

d. Tuticorin

LG LD.
d. arsaisse

Which charge configuration produces a uniform electric field?

a. Point charge b. Uniformly charged infinite line

c. Uniformly charged infinite plane d. Uniformly charged spherical shell
e. Answer not known

obS LIS L [Hleneowlenlolil] FImen LOeLevHmS 2 (HeUTdh@GLD?

a. yeiell 1OleiTemmL L LD

b. &ymer West@m L 1D QuUBB (igaleom HIDLT

C. Fymenr WM LD GuBm (pelleom FLOSHENLD

d. Fymenr et Lib Qubp Csmendd gl
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87.

88.

89.

90.

e. alewL G flwailsdenev

The original language of India is said precede Dravidian language is known
as

a. Thai language b. Kulerian language c. Chinese language
d. Bengali e. Answer not known

@phaHw Gwmh CaxmBmsHFHev Hymall Owmhiselled (wWhHHw 6T

a. smul Gomyl b. QsnGsufuie Gomyd C. emgelerd Gomifl
C. Qumasmed Gioml e. alewL G flwailsbenev

India is a member of the Universal Postal Union since
a. 1866 b. 1876 c. 1886 d. 1896

e. Answer not known

@hHwT, 2 b emaled SUTeL Simliled alCUTHIBHEH 2 mItiienTs
o Gilengl

a. 1866 b. 1876 c. 1886 d. 1896

e. alemL G flwaledensv

The Central Bureau of Investigation (CBI) was created in

a. April 1953 b. April 1963  c. April 1973 d. April 1969

e. Answer not known

HHW Yevenimuley GFuwIeusd sIIOUTISH gBUBSHSLILL L FI?

a. glyev 1953 b. glyed 1963 c. glgev 1973 d. giyev 1969
e. alewL G fwailsvenev

Assertion (A) : The Council of states is considered as a permanent House of
the Parliament.
Reason (R) :The Members of the Council of states are representative of the
states; not the people.
a. (A) is false but (R) is true
b. (A) is true but (R) is false
c. Both (A) and (R) are true and (R) is the correct explanation of (A)
d. Both (A) and (R) are true but (R) is not the correct explanation of (A)
e. Answer not known
&mm (A) : @bhHw UTTTEHOETBSHH ST BIIHHTEF FEOLIWITS LDTH60BISH6TNEI
SHSUILBSBSI.
aryewid (R) : wrhlevkisenenal o minleTae omplevmiseier L1yHmasenTtas
B HSFBITH6NT, dhHeNer LFSHHHHenTs Si6060.
a. (A) seaum spemmev (R) o ewienio
b. (A) 2_aienip syemmed (R) seum
c. (A) oppd (R) @yewiGid o ewienio, Bpd (R) eteug (A)-elBarer gfuimet
allengsLd
d. (A) wmpd (R) @yewiGo o _easieno, oemmed (R) ereiiug (A)-elBasmer gfluimer
Q16 BLO606D
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91.

92.

93.

94.

e. alewL G flwailsdenev

The Royal Indian Navy Mutiny brokeout on 18-23 February 1946 at
a. Bengal b. Bombay c. Cochin d. Madras
e. Answer not known

Mageufl -60 GoupdHw @bHFHuwl SLBUML HeOSID BLSHSUILL G 1D

a. GUBIBITEITID b. wbumu c. Carsdlen d. wsymerd
e. alemL G flwalevensv

‘Al Hilal’, a weekly Urdu Journal was started by
a. Maulana Abul Kalam b. Mohammed Ali Jinnah
c. Sir Syed Ahmed Khan d. Yusuf Ali Khan

e. Answer not known

‘Al Hilal’ e1ei3 eumgmpdly 2 ma usSHfbensenus QL midlueuT wimr?
a. OIDETELTEIT SILIGD HEVITLD b. (pawsH D60 26T

C. T WS DIBLOG ST d. wa 960 e

e. alewL G fwailsdenev

“Found the skill of hands there and the power of foot here” - The meaning
of this line in “‘Kambaramayanam’.

Breaking of Bow by Raman

Liberating Agaligai from curse

Killing of Thadagai

Victory over Ravanan

a. 1 only b.1, 2 only c.2,4 only d.1,2,3 only

e. Answer not known

“md  oUeHTeNID  OIMIG HeIGL6T  HT6L  eUewIewID @WIG HWIGCLG 616D
SLFToTWeRILl LTl eufl @ ewiiThaHId OFulIg eresren?

1. @ymoer alleb0l6vmy&HHSH

2. oalmad gmu alGwrgeaid GUBBEI

3. STLmadmw aupbd UfheHd

4. @ymeucnienal GlaUTBS

a.1 w’ @Bw b.1, 2 o @B C. 2,4 B d. 1,2, 3wl @w

e. alemL G flwaledenev

“Kallathin Utchum Suramenbar Kadalar
Ullam Padarntha Neri” - These lines are from
a. Kalavazhi Narpathu b. Thirukkural

c. Aynthinai Aymbathu d. Kar Narpathu
e. Answer not known

‘BOMNGHH T 2MFSHID HTOLDIILT HTHEOT —

® eitembd ULbHSH OBl — umed eufl LD CuBBE

a. semeld HIBUS b. Fmab@mer

C. mbdHenent DG d. st pIBUS
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e. alewL G flwailsdenev

95. is the welfare body which is working for the holistic empowerment
of women in cutting across all the sectors.
a. State Resource Centre for Women
b. State Commission for Women
c. One Stop Crisis Centre
d. State Organisation for Women

e. Answer not known
SMASHH S Gueniseier (prpemowmer GubuTligBars usmll  OFUIUD [Hev

DIMLDLIL
a. LTHlev OUIENTIH6T 6U6T GMLOUILD b. wrBlev wseflT SemevvruiD
C. PUHHEMeL Oh(HBBI EMIDUILD d. wrpev OUeIH6T FRIBLD

e. alemL G flualedensv

96. Who is the Father of Indian Renaissance?
a. Raja Ram Mohan Roy b. David Hare
c. Ishwar Chandra Vidyasagar d. Rabindra Nath Tagore
e. Answer not known
@bhHw wpiweoTFFuller FHhengd WmT?
a. gmeam gmb Gomssest Fmul b. GLaill anGy
C. FagauT FhHAT alSHUTFTHT d. misay B1H FHrami
e. alewL Oz flwealsdenso

97. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum?
2 b. 4 4z d.31
a. 2 years .4 years c. 47 years .33 years
e. Answer not known
ah. 5,600 53 6% aullg aiFHD THHman SpemwiBHeled h. 6,720 Benl_&GHID?
a. 2 oL (BBHer b. 4 syemiBsel C. 4% LT (BB
d. 3% SLUIT(HEB6IT e. alenL Oxflwealsdemev

98. A sum of money is to be distributed among A, B, C, D in the proportion of
5:2:4:3.1f C gets Rs. 1,000 more than D. What is B’s share?
a. Rs. 1,000 b. Rs. 3,000 c. Rs. 2,000 d. 4,000
e. Answer not known
A, B, C, D eauaiiser @m GHIL Gamendemuw 5:2:4: 3 aaimB aldsHdhaed
Lrig pdlempent. @0 C ereiuoum D g el ep. 1,000 oigsb QupiapmT sreflsd
B &1 umi@ eleten?
a. Rs. 1,000 b. Rs. 3,000 c. Rs. 2,000 d. 4,000
e. alewL G flwailsenev

99. How many ways can you answer five TRUE or FALSE questions?
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a. 10 b.5 c.25 d. 32

e. Answer not known

glwm? seupr? gpmis eler 5 CaoelalseT mebFHIBar. Bhs 5 CoelalseEnsh@d
QTHBIOTH 615HHemeT AIHLOT6T LIFH60H6T HI(LPIQULD?

a. 10 b.5 c.25 d. 32

e. alemL G flwalevenev

100. 210 men working 12 hours a day can finish a job in 18 days. How many men
are required to finish the same job in 20 days working 14 hours a day?
a. 160 b. 162 c. 164 d. 169
e. Answer not known
210 syewimen HTOeMTEIBIGE 12 wewil Gy Geauemev GFUIH @H Cauemevenws 18
Bredefed (pliLiT. £I8% Geuemevenw BTOeMTeIBISG 14 wewll GBI  GCousmev
Cauigl 20 BT ®6eMed (PIYHD 6THHMeT DLTH6T CHene
a. 160 b. 162 c. 164 d. 169
e. alemL G flualedensv
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